EARAROBEEIERT — 2 N— IBISH —F

201218218 (&) 18@{£E3H

m C1—3# C1 ¥#5%3m®L EEE R
[AE4£] 1% :170,000 @ ~ 23#&:39,000 ™  33%&:1500 M  437%&:9,000H ~ 53%:5,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.- BEmth 129, —1-1- . — FEBF (£8)
1 4| XARIVT AR~ " 56.0 1(2_9)9 a9 ! 38) KHEYF =
R:d—IWR7Y2—Ib B:JU—blsrd e BEF
: s 4 | WO 1:30.5 1-2-2-2 | 39.5| — 2 492 | REM (£H)
21819 JILHE 54.0 3) (1) R—iE
RTUYHA ISP K B XE— b ERAS
N 4 5 | EBERE 1:31.2 6-6-6-6 |38.9| — 3 468 | HIBE (£H)
30111 AXEVY—7T > 56.0 (4) (+8) JR== 1]
RA—TJXM A4 B:ORERY—Ta EviLy RT7—L4
N T &S : -3-3- — LAkt (&%)
al7l7| P71 i 5 s 1.(311).4 3-3-3-3 | 39.7 6 ;1:125) FANS
RRFAT—E B:PrYa¥ed it HERR
5 NS E VTS AN o5 gzﬁﬁé—ﬁﬁ 1:(311).6 8-8-8-7 |38.7| — 7 516 ;;,Ezé (£%)
RiO=UXA AL B ALLFTE-N D | S2E5 2771
. o4 | FAREK 1:31.6 5-5-4-4 [39.9| — 4 494 | HHEB (£E)
6l8lg| AN=—2Ux—7 55.0 ("F) o |EER
R:HYI5TLIF N B:5TUAIN— hF— JIE 15k
SN s s = BAEA— : -4-5- - KEFER (1£E)
1 > PIES XA o4 Q650 AN B R ° f; PHT
LHIITTLIFL b BALY TR~ ML EO4S
. N . B AT . == — HEHER (£8)
8l5|5|¥—~F2TLIE w7 | L 1.(312).3 7-7-7-8 | 39.5 5 (4_660) ped
RR—NRFIYLF— BRLELITAE H#E ER
N - ITF#&E 234, -9-9— X — INTEX (&)
o R B4 WTHhR 1 (3;) 0 9-9-9-9 | 40.5 8 (z_tgg) ME%“ "
R:Za—1>95>K8 B:bh—FKunvyht &l —%
® I—F—@EBIERL
13—4— 9,4,7,2,8,1,5,6,3
Ao=5"= 4,9,7,2,8,1,5,6,3
3T—7— 4,9,7,8,2,1,5,6,3
43—+ — 4,9,7,8,2,1,6,5,3
[ N5
B R 4 200 | | 71 K 4-9 1701 | | # & 4-8 210M | | 3EfE 1-4-9 570
% B 4 120 1-4 201 | | BB = 4-9 360/ | | EE 4-9-1 2,640M
9 110M 1-9 250/ B H 4-9 650M
1 120M

ABICOVWTRDTEEERROODE. TR LIV,




